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for the questions.

Answer Question No. 1 and any four from the rest.

1. Answer the following (MCQ/Fill in blanks) :

(10 x 1 =10)
G) Ify=(x+a)*,then y, =
(@ O . (b) n!
(¢) a"n! (d) a"x

(i1) The function u =—Ji—+—yf is a homogeneous
e 3 B e o &




"
£

-
~ Y
T
of
.

Y




(vii)) The volume of the sphere generated by the

revolution of the circle x?+y? =a? about the

Yy —axis 18

(a) ma? - (b) 2w a?
4 3 4 3

(c) 3 %4 (d) 37

(viil) The integrating factor of the equation

dy

e A e’ 1s

1
(@) x (b) —

x
(c) e* (d) log x

(ix) The solution of the differential equation

a .
Y'=xp =gz 18 SNA CHOWDHURY CENTRAL LIBR/
F = (GIMT & GIPS)
Azara, Hatkhowapara,
@) a ®) Guwahati -781017
a 5 XC
C
(© xc+2% (d) xhls

(x) The complementary function of the equation
d2y
dx2

MA 171103 3 _ [Turn over

—y=cosx i8




2. (a) Find y, if y =sin2xcos3x.
() Expand (1+x)* in Maclaurin’s series.
() If y=tan!x, then show that 2+5=

i | (i) (1+x2)y, =0

I | @) (14 X2y +2nxy, +nr 1)y, =0
3. (@ Ifu=log (x‘"i +y +28 = Sxyz), show that
ou u ou_ -3
ox Oy 0z x+y+z
() If u=sin|=——< | show that sinu is &
x+y

homogeneous function of degree 1

'.= - + A' ﬁ— -I;
X y—ay tanu “ 2+56=T

() If x=rsinfcos¢, y=rsinfsing, z=rcosé

prove that 6()‘" Y, z) =7r2siné .
R )
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4, (a)

! (b)
| (c)
5 (a)

(b)

} 6. (a)

()

Obtain a reduction formula for

x/2 /2
Y A j' cos” xdx and hence evaluate J' cos? xdx
0 0
G®+2=17)
/4
Evaluate J tan6 xdx . (3)

dxdy

Evaluate J' I \/1 = Jl (5)
x
Prove that \g =7 . - (3)
1 7
Evaluate J' xz(l—xzﬁdx. (8)
0

Find the volume of the solid generated by

revolving about the x-axis, the area bounded by

thecurve J;+\/§=Ja_;x=0,y=0. TS

Show that the equation xzydx—(x3 +y3)dy= 0
is not exact. Hence find an integrating factor

and solve it. (L+24+5=8)

Find the complete solution of the equation

(D2—5D+6)y=e"0082x, [Ds%]. B8+4=7)
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(a)
(b)

(c)

-~

Solve : p'= leg(px =g

Find the particular integral of
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